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Answer all questions,

All questions cariy equal marks.

Only one answer is to be given for cach question.

If more than one answers arc marked, it would

be treated as Wrong answer. '

Each question has four alternative responses

marked serially as 1, 2, 3, 4. You have to darken

the correct answer,

6. There will be no negative marking for wrong
answer.

7. The candidate should ensure that Roll Number,
Subject Code and Scries Code on the Question
Paper Bookiet and Answer Sheet must be same
afler opening the envelopes. In case they are
different, a candidate musl obtain another
Question Paper of the samc scries. Candidate
himself shall be responsible for ensuring this.

8. Mobile Phone or any other electronic gadget in
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candidate found with any of such objectionable
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9. The candidate will be allowed to carry the carbon
ptint-out of OMR Response Sheet with then: on
conclusion of the examination,

10. If there is any sort of ambiguity/mistake either

of printing or factual nature then out of Hindi

and English Version of the question, the English

Version will be treated as standard.
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I MACroeconomics disposable income refers to !
(1) Income after taxes and transfers

(2) After - tax income

" (3) Income spend on consumer durable items

(4) Income over and above cost of necessities

'wﬁzaﬁmﬂi‘fuﬁmmma{ﬁm%:

(1) X T TWrEO IO HE

(2) w JuE I

@) el Sudm wget W =

(4) sasTeTiEl @ T ¥ afus o

Who among the following did not estimate the incidence of poverty in India ?
(1) B. S. Minhas

(2) P. K. Bardhan

3 V.M Dandekar and Rath

4) Raj Kirishna _
Wﬁﬁ%ﬁwﬁﬁﬁwmwﬁﬂﬁm%:
1y €. . fred

) W H TWE

G) A T EesEt 'U,?'I.'{%I

(4) TEEel

If nominal GDP is equal to real GDP, then

(1) The GDP deflator is equal to zero

(2) The GDP deflator is equal to one

(3) The GDP deflator is less than one

(4) None of the above is correct

Ay dfe S @ e HAd wE ¥ A
1) AR deE BT T ¥

@) IS G & TE TS ¥

(3) <. aeE F OTE Th Y B E

(4) mﬁ%ﬁéeﬂaﬁ%

(¥

MR tContd-



4 An empirical study on relationship between the rate of money wage rate
increase and rate of unemployment in the economy was given by -

(1) A W Phillips (Z) J. M. Keynes

(3) Adam Smith (4) Karl Marx
éﬁmﬁﬁﬁqﬁﬁ&mm@ﬁq&a&m%nw SPHIRIE sreges
W AR 4T

(1) U w=y fefrg 2 = R

(3) u=m Ty (4) o "

S Estimate the Gross National Product (GNP) of an economy from the data
given below :

(a) Value of consumer goods and services Rs. 20,000 crore
(b) Value of capital goods and services Rs, 10,000 crore
(¢) Value of exports Rs. 4,000 crore

(d) Value of imports Rs. 2,600 crore

(e} Total depreciation Rs, 1,600 crore

Which one of the following is correct

(1) Rs. 31,400 crore (2} Rs. 32,400 crore

(3) Rs. 29,800 crore (4) Rs. 35,000 crore

%ﬁﬁﬁmﬁm%mn@wmwwwm:
(@) s agel o Al @ g w 20,000 BiE

(b) YSira Tegell o el @ T & 10,000 #3s

© PR & 90 ® 4,000 w0

(d) omEwm W qE ® 2,600 HE

(¢) waHd PwmEz =@ ® 1,600 Fis

Frifes & @ #-m = ¢ 2

(1) & 31,400 #Js (2) & 32,400 W=

(3) ® 29,800 Fs (4) ® 35,000 Bz

6  If the total expenditure on a commodity increases after a price increase
the elasticity of demand is -

(1) - Greater than one ) Equal to one
(3) Less than one (4) Infinite

(1) =€ ¥ afum (2) TE ¥ T
3) T8 ¥ @9 4 o=
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7 In the Cobb-Douglas production function the elasticity of substitution
between factors is -

(1) Zero (2) Equal to one

(3) Greater than one (4) Less than one
m—mw_wﬁﬁwaﬁﬁmwﬁﬁ%r
(1) T (2) THE b IE

G) TE ¥ ot ) T ¥ oW

8  Which law states that, given the taste and preferences the proportion of
income spent on food stuff diminishes as income increases ?

(1) Engel's Law (2) Gresham's Law

(3) Giffin's Law (4) Say's Law .
'ﬁ?—wﬁuﬁwﬁmﬁﬁm%ﬁsﬁﬁwmﬁm%ﬁﬂmﬁa
@m'wﬁwmﬁﬂémwmmaﬁ%mwmﬁﬁw%—
(1) ufew @1 fEw ) Uem & T

(3) Tifes @ e @) ¥ @ fad

9  In economic theory the term '‘ceteris paribus' is used to indicate
(1) Demand and supply are equal
2) MR=MC
(3) Prices are increasing
(4) Other things being equal
o Rreral § Cfaexe dfEe” o= B YA a8 saM & W
() A e Rt e ¥
(2) T ¥R = T WA
(¢) ®wd 9T @ ¥
(4) ¥ Q@ TAEH §

10 Inflationary gap arises in Keynesian employment theory -
(1) Before full employment (2) At full employment
(3) After full employment (4) None of the above
e AR s A e dROw S gl € -
1) of Iwme ¥ (@ TF TR W
G) T W F W @) wrfw ¥ ¥ B
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11 Which olrf the following could expléli’ri' a movement from };i‘)i:nt F to point
G in the figure :

Wage Rate

x Number of
0) Workers

(1) Increase in the market wage rate in the labour market 5
(2) Increase in technical knowledge
(3) Increase in population

(4) Increase in cost of training to workers in the labour market.

Wﬁéﬁ?ﬁfa@’(@ﬁaﬁFﬁquﬁﬁﬁwm%
Tl |
Y

o X s & wen

(1) o7 IR ¥ so 7ol X ¥ qfg

() dEES T ¥ gig |
(3) e ¥ gig
(4)wwﬁﬂﬁaﬁﬁtﬁmmﬁﬁ

12 The laffer curve explains the relationship between which of the following :
(1) Tax rates and employment
(2) Tax rate and income
(3) Tax rate and Tax Revenue
(4)  Tax rate and Public expenditure

ﬁmwﬁﬁ%ﬁéﬁﬁ%ﬁamﬁmﬁm%—
(1) & W wd Ao

(2) ® U ™

(3) & W wF w am

(4) W I wd gEetE @y
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Which of the following are the basic components of international Monetary

Fund stabilisation programme

(1) Liberalization of foreign exchange

(2) Devaluation of the currency

(3) General opening-up of the economy to international trade including
foreign trade

(4) All above

s e ¥ Rl weEA B g e ¥ -

(1) TR RFm & ST -

(2) T W ST
3) mﬂ@awﬁﬁ%sﬁwmwﬁaﬂwﬁwww

4) SwgE 'R

14 Match List
Economist ' Concept / Theory

A Ragner Nurkse 1. Backwash Effects
"B Rosenstein Rodan 2. - Theory of unbalanced growth
C  Gunnar Myrdal 3. The big push theory
D  Hirschman 4. Theory of balanced growth
Correct combination is :
Code :
A B cC D
My 4 03 1 2
@ 3 4 2 1
3 2 3 1 4
4 1 2 3 4
T @ifTg
AT EEk 14 WRKES
A TR N 1. Y@y UHE
B M TaH 2. orgiva fawr w1 R
¢ TR B 3, gl yE faard
D A 4. wghva freew @1 e
FE ¢
W
A B C D
1y 4 3 1 2
@ 3 4 2
@Gy 2 3 1 4
4 1 2 3 4.
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Match List - I (property of a plan) with List - II' (model used) and select
the correct answer using the codes given below the list -

List - ) List - 11
(Property of a plan) . (Model used)
A Feasibility . Input - output
B Consistency 2. Linear Programming
C  Optimality 3. Harrod - Domer type
Correct combination is :
Code :
A B (
(1 1 2 3
2 3 1 2
3 2 3
@ 1 3 2

ﬁaﬁ@-l(ﬁama%ﬁsm)ﬁﬁaﬁq;ﬂ-n(wgaﬁw)%wa
T@maﬁﬁmww%%ﬁﬁiﬁgqﬁﬁ%aﬁﬁql

T - 1 T - 1
(@ A frdom) (g wiiem)
A IR 1. oET-We "ew
B s 2. WiFER gy
C  orggeam 3. TR - e wEw
FE :
WEERT
A B
I 1 2 3
@ 3 1 2
Gy 2 3
@ 1 3 2

Which of the following institutions providing finance to the industrial sector
was set up in India, first ?

(1) Industrial credit and investment corporation of India

(2)  Industrial Finance corporation

(3) Industrial Development Bank of India

(4) Reserve Bank of India

aﬂaﬁﬁmaﬁaaﬁﬁmm&mﬁ%@ﬁmﬁmﬁﬁﬁw—ﬁmaﬁw
TR F TR wew W R -

(1) AT shelfes = wa Rifrnr frmg

(2) o Ry Py

(3) WA= steifes fem &g

@ v fod &
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21

WTO hezidquarter"is‘ located at

(1) Geneva (2) Paris
(3) Washingtan D.C. (4) Hague
T, . ot w1 gerwE Rew ¥ - |
(1) S | @) U

3) Ffyres S Eh @ '

The Headquarter of IMF is situated at

(1) New York (2) Tokyo

(3) Washingtan D.C. - (4) New Delhi

oS, WA, U @ qeiwa Red ¥ -

1y =@E (@)

(3) afime & Q. (4) -5 Tl

Which economist first suggested imposition of expenditure tax ?
(1) J. R. Hicks - (2) Dalton

(3) N, Kaldor (4) Samuelson
mmmﬁmm@r%@rgﬂﬁﬁwa{ﬁaﬁ%f&mm ?
1) . or. R () swA

(3) TA @SR (4) g

If Median and mode of a set of observation are 20.6 and 26
respectively then what is the value of mean of the observation ?

(1) 16 | 2) 179
() 184 @) 19
o U e TYE W HEAH T4 D BT 20.6 Td 26 ¥ A I\
Faes WE &1 W A ? |
(1) 16 (2) 179
() 184 (4 19

Lorenz curve enables one to study which of the following ?

(1) Average (2) Dispersion

(3) Correlation (4) Tax Rate
ﬁmﬁaﬁﬁw_aw%@aﬁﬁwmwam% ?
(1) ofEd @ R

(3) UWEERH 4 &H K
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Which of the following is the basis of the Ricardian Theory of comparative costs. 5
(1) Supply and Demand Theory (2) Factor endowment

(3} Labour Theory of value (4)  Marginal utility Theory 5
ﬁmﬁ%mwﬁ@ameﬂmﬁ%ﬁéﬁmm%?
() = wE i T (2) wEod SywedEr 5

() T ® g fear (4) A swefn Reae

Fisher's ideal index number satisfies which one of the following tests ?

(I).  Time Reversal Test : 5
(2) Factor Reversal Test _ _
(3) Both Time and factor Reversal Tests

(4) Chi-Square Test :
ﬁmﬁaqﬁwﬁﬁ@q—mﬂwﬁmwmﬁw@m%?
(1), w99 Iepmmar qier

(2) WF SEErEer gem

(3) I W Td W werRE gl

(4) »E T g

Coefficient of correlation is independent of which of the following ?

(1) Change of origin (2) Change of scale

(3) Change in parameters (4) Change in origin and scale both
wEwS TG frAiter ¥ 4 feed wew 30

(1) 7w fag dfadw 2) T ke

(3) wem wfiadw (4)%@%@@%%

Firms in perfect competition faces -
(1) perfectly elastic demand curve
(2) perfectly elastic supply curve
(3) perfectly inelastic demand curve

'(4) perfectly inelastic supply curve

Tt aRretEr wf & we v ¥ -

(1) quiEE WEET g (2) YU e gRfam

() gk SRR girems (4) Yo SAER gfifam

05 /BCONOZ2_A] ’ WM (Conta..



1 U &1 G U

27

28

In perfect competition :

(1) Price equals MR

(2) Price equals AVC

(3) Fixed cost equals variable cost
(4) Price equals total cost

qof whdiEn ¥ -
(1) aﬁq?r@tgqerr{wé’lﬁ%

(2) ST AVC % STEt B ¥

(3) ﬁquﬁuﬁaﬁﬁaﬂamwaﬁ%

'(4).aﬁmqﬁ@ﬁww€ﬁr%

What does an increase in the ratio of revenue deficit to gross fiscal. deficit
indicate ? :

(1) An increase in investment

(2) An increase in imports

(3) An increase in foreign direct investment

(4) An increase in utilisation of borrowed funds for revenue purposes

Wﬂmqﬂwmﬁuu&wwmw.mhm%?
(1) RfEm ¥ ghe ‘ -

@) om ¥ ghE -

(3) vew R fay ¥ gie .

(4) Waﬂﬁﬁ%@m%aﬁﬂﬁqﬁg

If in a year, the gross fiscal deficit of government is Rs. 6,00,000 crores,
revenue deficit is Rs. 2,50,000 crore and interest payment are Rs. 1,40,000
crore. The primary deficit is -

(1) Rs. 4,60,000 crore

(2) Rs. 4,50,000 crore

(3) Rs. 3,90,000 crore

(4) Rs. 2,10,000 crore

et o A o gase CerRE w1 . 6,00,000 HUS, o 1R B, 2,50,000
HUE | TEA T 1,40,000 BE ¥ W mafie B Em -

(1) <. 4,60,000 TS

(2) . 4,50,000 FI3
G) ¥ 3,90,000 BS
@ %

2,10,000 IS
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Which one of the following statement is correct ? The leontief paradox makes
(1) a critical analysis of Haberler theory of opportunity cost .

(2) an empirical study of factor price equalisation theory of samuelson .

(3) an empirical testing of Mills theory of reciprocal demand
{(4)  an empirical testing of Heckscher - Ohlin theory of international trade

aﬂﬂ-—mwaﬁr%?ﬁmﬁwﬁﬁmw%—

(1) W%Wmmaﬂa@ﬁﬁmuﬁw

) W%Waﬁﬁawﬁﬁmﬁ@amaﬂmﬁzﬁam
(3) M%ww%%@mmmmﬁmuﬁm

d
d

d

(4) WWW%%?&W—%%@?WWW@W5

The Heckscher-QOhlin theory of International Trade is the difference in -

(1) Cost of production (2) Factor endowment

3) Technology (4)  Transportation cost

TR — %wmw%@amwﬁ%ﬁm%~
(1) SaORT wrg () W7 gy

(3) e 4) uiEET W

Which one of the following is best characterizes the Bretton Woods system
of exchange Rates ?

(1)  Adjustable fixed exchange rates
(2) Fixed exchange rates

(3)  Adjustable pegged exchange rates
(4) Pegged exchange rates

ﬁhg@%ﬁﬁ%ﬁﬁﬁﬁﬁﬁﬁﬁhm%
(1) wrad Re faferr w2 fery fefrmy o1
() wragwElt i fifmy o 4) T fyfmy =<

Which of the following is the highest form of economic integration among
different nations ? '

(1) Custom Union (2} Free Trade Area
(3)  Economic Union (4) Common Market

05/ECONO22_A] | 11 | (NI [Contd...
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37

The Mahalanobis Model was developed for which of the following plans ?

(1) First Five Year Plan . @) Second Five Year Plan

(3) Third Five Year Plan (4) Fourth Five Year Plan
Wﬁﬁﬁﬁmmmﬁqmﬁ%ﬁwm%gﬁﬁmwm ?
() wew e A ) T deadE S

(3) e dEadE A @) wgd daadE e

Who developed a modet which explains the paradox pertaining to the rural
urban: migration in the context of rising urban employment ?

(1) Lewis (2) Todaro

(3) Solow (4) Robinson
aﬁgaﬁfmﬂ%mﬁmﬁms@m%aﬁrﬁuﬁ%ﬂmﬁm‘
1 Wew e whoied Rear a1 ?

(1) wfE= @)

(3) €l (4) =

'Golden Hand Shake' Scheme refer to

(1) Agricultural policy (2) Industrial Policy

(3) Export Policy (4) Exit Policy

e dueds Ao e o §hE W 37

(1) s Aid @) ofeife A

@) P Wi (4) ufme

Most Favoured Natic;ms (MFN) clauée under GATT implies

(1) Most favour to some countries
(2) No Favour to some countries
(3) Most favour to all countries
(4) No favour to any country

wﬁhﬂauwr&w(wmwﬁzﬁmﬁm%—

(1) FB T @ euw gEE o () 3% g B B G T
@) wh s & et gl (@) Fh T B B ghie T

Voting rights in the IMF are given on the basis of
(1) Democratic principle S

(2) Proportion to quota allocated to countries

(3) Proportion to contribution given by each country
(4) None of above

Wﬁﬁzﬁ%ﬁa{ﬁﬁﬁﬁaﬂm%-
(1) veTaie Mg

2) R 298 @1 oafEd @i % TER W
(3) e 291 AN R T SiEH b ER W
@) wE ¥ ¥ g W
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42

EURO come into circulation since, 15! Janyary

(1) 199 2) 1997
(3) 1998 (4) 1999
EURO 1 sait #' fow af owwr & aper -
(1) 1996 - Q) 1997
(3) 1998 - 4 1999

Open market operation means

(1) Borrowing by scheduled banks from RBI

(2) Purchase and sale of Government securities by RBI
(3) Lending to agricultural sector by NABARD

(4) Lending on soft terms by -Banks .

A A B Rl wroomem

Hedging is related to

(1) Commodity market (2) Labour market
(3) Foreign exchange transactions (4) Home loans
AT wT oy §

() =g I | ©2) " 9= ¥

3) fRA Rfrm dww 9 @ T& =mg F

If the Government Budget is not passed before 315t March then Government
expenditure is undertaken by passing

(1) Vote on Account (2)  Supplementary demand

(3) Voie on credit (4) None of the above

aﬁ3-1mé#ﬁmmwaﬁzmﬁaw€raﬁmw&m{uaﬂ%
3 UW feen omr ¥ - | |

(1)  wErgE @ T W

() w1 SEm | (4) Sgw F q B &

Which one of the following will result in crowding out effect for private credit
market ?

(1) Low level of government borrowing

(2} - Low rate of interest

(3) Large repayment of Government loan

(4) Large borrowing by the Government
ﬁvﬁwwﬁwuﬁﬁwﬁww%&mﬁﬁm—m% ?
(1) @R @0 & w9 a

(2) W WS w

() W@R W T 9B F owmr wiemE

(4) @R TR 9 WET ¥ omwr ae
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44  Which one of the following

Agricultural sector
(1) Horticulture
(3) Polletry

Prerifor & A T B B

(1) SrTEEt
(3) - AT

@ EWA B/ WL E -

43 The Firm has maximum profit at the production and price -
Price
MC
P, b
P, N D
P, \/\
Price .
\ AR
o T 4 qi\m _Quantity
Quantity —
M pJy 2y P9
3) P19 . @ p3 %
] % fMg SERd U almad @
B
MC
P1 PI'I
P2 \ P,
P3 \/<\\
BT
\ AR
MR _—
0 q; 9 Ua
HH] —=>
(1) Py &% 2) p2 ¢
(3) P ® @ p3q

sectors is related .to Blue Revolution in

(2) Acqua culture

(4) Dairy

2) TEI wEE
@ =0

(1) S <D in the international market
(2) S =D in the international market
(3) S > D in the international market
(4) None of the above

A WE B AR ¥ -

(1) AT SR H

(3) ST A H
05/ ECONO22_A]
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45 - Soft currency means whose supply (S) and demand (D) is

S<D (2) TR gEK H S=D
§>D (4) SudEd W ¥ @ T

14
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46 Narsimham commottee i related to :

(1)  Foreign Trade sector (2)  Agricultural sector
(3) Banking sector (4)  Education sector
TR F9E wafeg 3

(1) TR =mr 8w 2) BN &3

(3) §fem &m NORR -

47  Zero-based Budgeting lays emphasis on
(1) Unlimited Deficit financing
() Preparing the budget neglecting history of expenditure
(3) Both (1) and (2) above -
(4) None of the above
T NPT qoe T @ F
(1) orifm or & R aeer w
2) = % few ¥ o TzET T CEIE
G) www (1) wd (2) I
) S ¥ e @

48  Rational Expectation Theory is associated with

&1 1 Ot O

(1) Hicks (2) Romer

(3) Lucas (4) None of above

el yansm R T T - |

(1) Team () T

@) - v @) e ¥ § B @
49 Nobel prize in economics is awarded by

(1) UNO (2) Swedish Academy

(3) IMF (4)  America

aafmari’fﬂ‘faawrmmﬁmam%

(1) T o & (2) wsyw sl

3) E. . g OB Litc)

30 Which one of the following is correct for a normal distribution ?
(1) Standard deviation is maximum
(2) Quartire deviation is maximum
(3) Mean deviation is maximum
(4)  Quartile deviation, standard deviation and mean deviation are equal

WWW%%@Wﬁ%Eﬁ?—W%&?W%—

(1) v R sifteem gy &

@) =guis Row afmer g &

() W fEw sfmaw @ ¥ ‘

4 W%{Wﬂgmﬁaﬁ@wﬁﬂmwﬁ%%
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